
PACK P/M

1 Remote Control (19 Buttons)(RF.71.19.01) M5x522/32/42/72/92 R84024 Plastic+Metal 1 G P

2 Power Supply (JLDP.10.063.106) M5x522/32/42/72/92 R83827 Plastic+Metal 1 C P

3 Wiring Adapter (R5.406.00.016) M5x522/32/42/72/92 R84025 Plastic+Metal 1 G P

4 AC Power Cord (R5.504.01.250) M5x522/32/42/72/92 R83829 Plastic+Metal 1 G P

5 Foot Motor (R052-315.095-C72M2-POHSBK) M5x522/32/42/72/92 R84026 Plastic+Metal 1 C P

6 Head Motor (R052-315.095-C72M1-POHSBK) M5x522/32/42/72/92 R84027 Plastic+Metal 1 C P

7 Leg (w/Inner Cap)(8in-3in-2in) M5x522/32/42/72/92 R83832 Plastic+Metal 6 C P

8 Retainer Bar (w/Warning Label SRB) M5x522/32/42/72/92 R83737 Metal 1 C P

9 Control Box (CB.25.22.01-W) M5x522/32/42/72/92 R84028 Plastic+Metal 1 C P

10 Underbed LED Light (White)(R5.113.00.084) M5x522/32/42/72/92 R84029 Plastic+Metal 1 G P

11
Massage Motor (Head&Foot) with

Foam case (RO-2330D24-PT07)
M5x522/32/42/72/92 R84030 Plastic+Metal 2 C P

12 USB Chargering Base (JLDK.74.01.01) M5x572 R84031 Plastic+Metal 1 C P

13 USB Chargering Base (JLDK.74.01.02) M5x522/32/42/92 R84032 Plastic+Metal 1 C P

14 Anti-Skid Pad M5x522/32/42/72/92 R83738 EVA Foam 6 G P

15 Hardware Part (Lift Motor) M5x522/32/42/72/92 R83739 Metal 4 G P

16 Steel Ball Lock Pin M5x522/32/42/72/92 R83740 Metal 2 G P

17 Velcro Leg Strap M5x572 R83837 Fabric 1 G P

Page 1 Of 3March 2025All Rights Reserved.ASHLEY
®

REPLACEMENT PART DESCRIPTION FORM
MODEL #: M5X522/M5X532/M5X542/M5X572/M5X592

FACTORY USE ONLY!!

PART# DESCRIPTION USED ON: MRP# MATERIAL QTY.



All Rights Reserved. March 2025 Page 2 Of 3

REPLACEMENT PART DESCRIPTION FORM
MODEL #: M5X522/M5X532/M5X542/M5X572/M5X592

ASHLEY
®

1. 

3. 

4. 

5. 

6. 

7. 

8. 

9. 

10. 

11. 

14. 

15. 

16. 

13. 12. 

17.

2. 



REPLACEMENT PART DESCRIPTION FORM
MODEL #: M5X522/M5X532/M5X542/M5X572/M5X592

ASHLEY
® All Rights Reserved. May 2025 Page 3 Of 3

2. 1. 3. 4. 5. 
6. 7. 

9. 
8. 

10. 11. 12. 
13. 14. 

16. 
15. 17. 


